HSSC CET Group D Answer Key 22 Oct 2023 1st Shift
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Mirror changes the dircction of light that falls
on it. This change of direction of light by a
mirror is called?

(1) Displacement of light

(2) Scattering of light

(3) Reflection of light

(4) -E;_:vmion of light
(5) Not attempted

2. Match the following I and II :

2. Preafifaa & 1 o 11 = gifea &% ¢ : I I
1 L - Name of the Organ of
T w1 A FIEA A Organism Respiration
A TFE— L sam =it A. Human being I.  Trachea
B. #gan T I %R B. Earthworm 1. Lungs
C. @ . T (F=0m) C. Insects . Gills
D. w8t — ——IV. = D. Fish IV. Skin
(1) A-lIL, B-1, C-II, D-IV (1) A-IIL B-L. C-II, D-IV

(2) A-llI, B-1, C-1V, D-TI

(3) AL B-IL C-IV, D1 s - D
\ (437l B-1, C-III, D-IV

(5) sat 7 ¥ =y

(2) A-IL. B-L. C-IV. D-I

(3) A-lIl. B-1I. C-1V, D-]

(4) A-l. B-L. C-III, D-IV
" (5) Not attempted

3. @H-Id A ad S @A A 7 F T 3 Match the items in column-I with those in

gafea &1 : column-Il :
-1 =11 Column-I Column-I1
A. ATy I. f=tm A. Salivary gland 1. Bile juice
B. Wat . ke B. Stomach - II Insulin
C. aga 1. sERaits are C. Liver /——Af_\lll Hydrochloric Acid
D. amEsE IV, sHEe D. Pancreas ~~ IV, Amylase
L3EA] o Choose the correct option :

A1) A-1V, B-], C-III, D-II
(2) A-IV. B-1. C-II, D-III
(3) A-l, B-1v, C-II, D-II
(4) A-lV, B-lII, C-1, D-II
(5) Not attempted

\ A1V, B-1, C-III, D-II
() AW, B C-1L, DT, o
(3) A-L, B-IV, C-IIL, D-I1  ¥iws- |
(4) A-IV, B-III, C-I, D-II
(5) FaX Féf 31 9wd

The process of loosening and turning of the
soil is called —

4. g2 o den B ol v B wisw weerd 1 - 4

*E‘E if# (1) ol
(2) harvesting
(3) ﬁmﬁ? ﬂ Ve D (3) winnowing

\_(D-wem (4) tilling
(5) Fut =8l & amy (5) Not attempted
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pasteurisation of milk is

(1) Heating of milk to about 70°C for nhﬁlf?
30 seconds and then slowly cooling it
and storing.

Boiling of milk and then slowly cooling
it and storing.

Heating of milk to about 70°C lor about
30 seconds and then suddenly chilling it

(2)

(3)

and storing. -

(1) Boiling of milk "and then suddenly
chilling it. e
(5) Not anempted
[“1--.

Which of the following food items gives
blue-black colour with iodine ?

(1Y Starch

2y Mincrals

(3) Protein

(4 Fat

{5) Not anempied

Iyphoid is caused by L
(1) Rs ena o
42) Virus
(3) Protozoa
(4) Fungi
15) Not attempted
i
Condensation 15 the process ol —
(1) Evaporation of petrol
(2) Separation of sand from water by

decantation i
(3) Conversion of water vapour into its liquid
form L7y
.

(4) Conversion of water, into ils vapour
(5) Not attempted ¢,

Large scale storage {:-If' grains is done in :
(1) Silos and granaries.,,

(2) Jute bags [

(3) Jute bags and metallic bins

(4) Metallic bins

(5) Not attempted
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(1) A-1, B-NI, C-I. D-IV

(2) A-II, B-II, C-1V. D-I
A-11, B-1. C-IV. D-III
(4) A-l, B-1V, C-III. D-11

(5) swr T &1 Oed
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10. Maitch the following :

Column-1 Column-I1
Name of the Movement
Animal

A. Snake I. Swim

B. Fish II. Slither

C. DBird 1. Walk

D. Cow IV. Fly

(1) A-IL. B-1II, C-1, D-IV

(2) A-IIL B-I1, C-1V, D-1

(3) A-LLL B-1. C-1V, D-IIT

(4) A-l, B-IV. C-1ll, D-1I

(5) Not attempted

11. Dark coloured objects absorb heat

than the light colonred objects
(1) less
(2) equal
(3) very much less
{(4) more
(5) Mot attempted
12. The minimum distance required by a normal
human eye to sec the objects clearly -
A1) 50 em
(2) 30 cm
(3) 40 cm
(4) 25 cm
(5) Not attempted
13. Pathogens are microbes which :
(F Cause diseases
(2) Spoil leather goods
(3) Spoil standing crops
(4) Spoil food
(5) Not attempted
14. Which of the following is an antibiotic?
(B~ Alcohol
(2) Sulphuric acid
(3) Erythromycin
(4) Sodium carbonate
(5) Not attempted

15. Anodising is a process of forming a thick
oxide layer of :
(1) Silver
(2) Aluminium
(3) Gold -
(4) Copper
(5) Not attempted
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How many total number of canals are there
under "The Bhakra System’ in Haryana?
(1) 472 Canals

(2) 528 Canals

(3) 452 Canals

(4) 521 Canals

(5) Mot attempted

Where is 1IIT. Haryana located?
(1) Sonipat

(2) Kamal

(3) Kurukshetra

(4) llissar

(5) Not attempted

Who amongst the following was the first
Chiel’ Minister of Harvana?

(1) Bansi Lal

(2) Bhagwat Dayal Sharma

(3) Rao Birender Singh

(4) Banarsi Das Gupta

(5) Not attempted

Fatehabad, is home to two very impﬂ{'tnnl
monuments. One is The Lat; which is the

other one?
(1) Humayun Mosque

(2) Dharamkshetra
(3) Banawali

(4) Arjuna Sthal
(5) Not altempled

How many (approximately) Community
Development Blocks does Haryana State

have?

(1) 90110

(2) 110-130

(3) 130-140

(4) 80—-90

(5) Not attempted
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21. Consider the following statements

A. There are 8 Administrative Divisions in
Haryana.

B. Pancf&k‘h]a is one of the Administrative
Divisions of Haryana.

Which ofithe above statements is/are correct?

(1) B only,

(2) BothiA-and B

(3) Neither A nor B

(4) A only

(5) Not ﬁlf_émpted

'x.,_

Charkhi Dﬂdﬂ does mot share border with
which one. & of the following?

(1) Mﬂhendmgnrh

(2) Jhajjar~

(3) Hisar

(4) Bhiwani

(5) Not ?{tﬁ}empted

22,

-
Which iscthe state flower of Haryana?
(1) Dahlia™
(2) Tulip' ™~
(3) Lutus"fl
(4) Marigold
(5) Mot attempted

In whlch r was the Pradhan Mantri Mudra
Yojana lalﬂ'.‘lched in Hal'yana'?
£H gth A'gnl 2018
(2) 251 February, 2017
(3) 10th.March, 2011
(4) sth Alpril, 2015
(5) Not attempted
Rte]
Tomb of dbrahim Lodi is located at :
(1) Panipaf
. (2) Kaittfal
(3) Jhﬂj.l
4) malt_am
(5) Not attempted

24,

25.
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patch List-1 Tourist Centres with List-I1 their

location.
I-Ji.'it-.l I riﬁ r"‘l[
A. Sky Lark [. Hodal
B. Damdama II. Gurgaon
C. Dabchick [I1. Uchana
[V. Panipat

7. Karna Lake
Choose the correc
given below

(1) A-TV, B-II, C-I, D-I11

(2) A-LL B-III, C-1V, D-I .
(3) A-lIl, B-I, C-II, D-1V

(4) A1, B-I1, C-III, D-1v g

(5) Not attempted

t answer from the options

Consider the following statements in respect

of the National Security Guards (NSG)

A. It is one of the Central [Armed Police
Forces. s,

B. It comes under the adminisirative control
of the Ministry of Defence, Government
of India.

Which of the above state

(1) B only

(2) Both A and B o

) Neither A nor B &

(4) A only i

(5) Not attempted e

. Yy

What is the approximately population of

Haryana?

(1) 2,00,00,000 — 3,00,00,000

(2) 3.,00,00,000 — 3,20,00,000

(3) 3,20,00,000 — 3,50,00,000

(4) 1,50,00,000 — 2,00,00,000

(5) Not attempted LD

ments isfare correct?

i

[
Which is known as the "Cherrapunji of
Haryanﬂ"? gﬁ“‘
{1; Kosli '
{2) Chhachhrauli
(3) Rewan
(4) Thanesar
(5) Not attempted

Th-.? ancient Fort of Mmlhﬂ-gmtl{ is located in
which district of Haryana? = -
(1) Hisar :
(2) .'Ihﬂ]iiur b
(3) Mahendragarh =
(4) Sirsa

(5) Not attempted

P.T.O.


Guest
Rectangle


IKSHR / X3 / Page 8

31, ER U9 Ol g (Nogd @) F an q

Freiffas weae ag R @k

A. Fﬁﬂﬁﬂiﬁr"ﬂﬂﬁé’[ﬂﬁmﬁﬁlwﬁiﬂ
T aftrs B

B. fmn @ i ug & & weoes & o v
o e ¥

Tudad § B @ QUY wUT g e 7

(1) &am B

{"‘iﬁaﬁ“{aﬂg*’m‘i

ﬁ}"_‘[ TE B M rD

(5) 3T ?rfi AT T

32, wateror d@eewr qur @adT o fow o vt @

T g BRe % T e wmn o

qTERT ) o 37

(2 A T

(3) vifeg ST MD
T WA

(5) TUC T I A\

33, fy=fafea woet ot e wif

A, fi=h wfamm = & toe s #

B. ad 2010 & durd) = sfamom = TowEia
w1 g9l wae fEar T

Trda HmuAl 9 @ @ an el e

(1) %aw B

(2) A ofit B 5=f

Biad At adB
e A

) ar T & uwd

34, qd wErE Rt A geam &t il s

el e &7

- K

35, Rt = fem o & =fam o= s

qE BT
) st

(3)

P B
(4) wuy

(5) swre = A wmd

31

32.

33.

34,

3s.

T6 ® % fiTT W1 / spAcE FOR ROUGH WORK

Consider the following statements about

Gross Stale Domestic Product (GSDP)

A. GSDP of Haryana is more than that of
Bihar,

B. GSDP of Haryana is more than that of
Uttarakhand.

Which of the above statements isfare correct?

(1) B only

(2) Both A and B

(3) Neither A nor I3

(4) A only

(5) Mot attempted

For rccognizing the efforts towards
environment conservation and promotion,
Government of Haryana has introduced the
award in the name of :

(1) Shri Chaudhary Devi Lal

(2) Shri Bhajan Lal

(3) Pandit Jasraj

(4) Shri Darshan Lal Jain

(5) Not attempted

Consider the following statements :

A. Hindi is the official language of
Haryana.

B. Punjabi has been accorded the status of
an official language of Haryana in the
year 2010.

Which of the above statements is/are correct?

(1) B only

(2) Both A and B

(3) Neither A nor B

(4) A only

(5) Not attempted

Where is former Indian Test Cricketer
Virender Sehwag's Crnicket Academy located?

(1} Panchkula

(2) Jhajjar

(3) Gurugram

(4) Faridabad

(5) Mot attempted

Haryana does not surround Delhi on
which side?

(1) South

(2) East

{3) Wesl

{4) North

(5) Not attempied
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38.

39.

40.
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Which of the following is NOT a part of the
iraditional attire for men in Haryana?

(1) Kamri

(2) Dohar

(3) Sopali

(4) Sala

(5) Mot attempted

Consider the following statements :
A. There are five Police ("ommissionerates

in Haryana.
B. Faridabad has a Police Commissionerate
located there.
Which of the above statements is/are correct?
(1) B only
(2) Both A and B
(3) Neither A nor B

(4) A only

(5) Not attempted

Where is Brahma Sarovar located?
(1) Fatehabad

(2) Kurukshetra

(3) Hissar

(4) Sirsa

(5) Not attempled

Fomous sportsperson Yogeshwar Dutt 1s
associated with which sport?

(1) Shooting

(2) Wrestling

3 Javeline Throw

(4) Boxing

(5) Not attempted

In the dance form 'Loor’, the word Loor
means?

(1) Ormament

(2) Music

(3) Crop

4) Girl

(5) Not attempted
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The single discount equivalent o twg
suceessive discoupts of 20% and 10% -
(1) 25%

(2) 28%
(3) 27%

(4) 304
LI
(3) Not attémipieqd
L
05
The average of four consecutive numhers A,
B, C and Iy »15 49.5. What is
Band Do I

(1) 2450

(2) 2352

() 2550
) 2499 3
(5) Not att&i‘pted

L

[e

the product of

=~

In how many years will a sum of ¥ 8000
at 5% per dnnum compound interest,
mmpnundeggﬁnnually becomes ¥ 92617

M3 @y
-
2
f=
@) 43
L
@xs L
I A
o)
@3 o

te-1

(5) Not atléﬁfplﬂd
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44, 5-o00 vad O wen, s 12, 15 o 18 & 44. The smallest 5-digit number which is exactly

e &, & : divisible by 12, 15 and 18 is :
(1) 10,015 (1) 10,015
(2) 10,020 (2) 10,020
(310,080 fove - i (3) 10,080
(4) 10.010 (4) 10,010
(5) 9O TE T A (5) Not attempted
45. 2‘3 x31 x_ﬁﬂ, 23 x 32 x§2 x7 3 45, The HCF of 22533 x5°, 23 %x3% x 527

4 4 = =2 -
29534 x5x 7% x11 @1 HCF % and 2%x3%x5x72x11 is

- T T
(1) 22 %32 x5x T x11 (1) 2% %3 x5 Txll

4 1
gy 2¢tx1tws 2) 24 %34 x5

T S
3) 24 %34 x 57 x Tx11 (3) 2% x3* x5 x7x11

\,{4‘)4;.{3235 PWL‘*'{D (+) 22 x3% x5
(5) e W€ A Aed (3) Not attempted
T

46. Wheat at T 9.30 per kg is mixed with another

46. 7 9.30 i Reclomy @t A 3 farel mﬁ“ e quality of wheat in the ratio 8:7. If the
% A A 8:7 F orgaa F Fremar Tl Hit ﬁuj mixture so formed be worth T 10 per kg,
a1 5ea T 10 wRY Rpaim &, @ g @ & g what is the rate per kg of the second quality
& e afa fedmm T r7? of wheat?

(1) T 10.60 (1) 7 10.60

\_£27'7 10.80 PTWE(B (2) T 10.80
(3) 2 11.00 (3) 2 11.00
(5) e 48 & el (5) Not attempted

< #1d & 9 ¥ / SPACE FOR ROUGH WORK P.TO.
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47. a: b & TlE T § 2 wE Tt @ fagg 47. The number that must be added to each term

WA ¢ ;o W B, B e

ac+bd
ct+a

" ad¥be
D iy

. (v ©
ey

ab - ed

P
(5) wut = ¥ A

48. et ufn ® 3:5 & orgua ¥ R R w45

afz =1 W T 75 %, @ ui ¥
(1) % 130,
(2) T 150"
AR 240,
T120-
(5) Fat 7€ &1 =@med

M.’D

49. A 0<Fxcl b, @ Poa & § 7@ & 7@
gem ¥ ¢ -
(1) 21 -

1 1
[

1
()

e

x° . -

b

M.C,

(4} X .y
(5) a2 =

IKSHR / X3/ Page 12

of g : b so as to get the ratio ¢ : d, is :

ac+ bd
(1)

ct+a

ad +be

@ csa -

ad — be
c—d

(3)

ab—cd £

(4 a—b o

(5) Mot attempted

FTp |

A certain sum is divided in the ratio 3:5.
If the greater part is i’gé, then the sum is:
(1) T 130

(2) 2 150 s
(3) T 240 [~
) T 120 i

(5) Mot attempted

. If 0 <x <1, then the gi€atest number among

the following is : =
(1} _1_2 i.::_‘.
~

@ |
1 :
3 il
) 2 I
49 x i

(5) Not attempte

1% ®14 % 7 W / SPACE FOR ROUGH WORK
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1 1
50. A % T @ 3 ™ ﬁﬁ-ﬁﬂ’mmt 50. A can complete 7 of a work in 5 days and

3
s 2
wafs B ot &rf @ E“'F'T 10 f&s1 o =T B can complete i of -the same work in
T § --.I
A ik 10 days. In how many qﬁys both A and B
g R & ;:T EE]‘]{ 2;2%? TS N O together can complete the work?
; 4 J.
i 4
- iy 83
(1 83 5
43 . 9 @ 92
10 T
3) 10 3 ) il
—_— 1 ST |
1 ' T— i
(4) ?-2— @ 75 :
(5) TAT ARl AT AR f kol ok mtohagied o
| e

, 51. A motorist travelled b'gﬁ’veen two towns,
51 @@ AT T, X e, Rk A g which are 65 km apart, ift 2'hours 10 minutes.

el 2 F g gea o i.ﬂ‘% 10 firrz o The speed in meters pe'f__rpinute is:

y ragaﬁ e e s et (1) 500 =
% s @) 600
\’E). e s \D‘ @) 700
O (4) 200
) 700 = (5) Not attempted ¢~
(4) 200 '{f_.:," ™
(5) oo T8 T A =X

52. A and B started a business by investing
T 85,000 and T 15,000 rEi:-ective[y. In what

]

S2. Awui B mua: ¥ 85,000 aar T 15,000 @ ratio, out of the following, their profits will
mwmﬁﬁmlﬁﬂﬁaﬁﬂﬁ,ﬁﬂﬁﬂ be divided after one year?
fow arma ¥ T wmw ater wmET? (1) 3:5 N
(1) 3:5 -~ : £
) < @) 153 =

15:3 £ & =
- 3) 173
21 17:3 B iy ) ™~
—A a e
4) 34 - @) 34
(5) e = 2 arEd (5) Not attempted

WSHR / X3 / page 13 < wrd % IQ W / SPAGE FOR ROUGH WORK PTO.
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E —t—t+ —
a fT* r11+1_2i2 = T
i (1) 2
(1 .2 i ,1_; #}f&*j
2f3 g&j ?H: | — 2 3
: (3) 4
(3) 4 gi{ivﬁ
ol § o @) 1
(5) st Y M = | e } (5) Not attempted

e VO
54. 18 ad Wﬂaﬁﬁﬁ_ﬁ?ﬁﬂﬂ_"ﬁ%- 3;‘]:?; 54. How many cubes of edge 3 cm can be cut
oo A R o @i o awd B 7 out of a solid wooden cube of edge 18 cm?

\/(Tﬁ:m (1) 216
M6 M ‘ {/‘\ @ 6

(3) 218 (3) 218
@) 36 @) 36
(5) 9T T 31 T (5) Not attempted
55. afk /3 =1.732 am V2 =1.414 % @ 55. If /3 =1.732 and /2 =1.414, then
1
P LU m is equal to
(1) 0308

(1) 0.308
| - B
\r 0318 (2) 0318

(3) 2.146

(3) 2.146
(4) 0.064 4) 0.064
(5) wat 7é T awa |
(5) Not attempted
—-—-—-_.._,._—-L__.___-_____________
IKSHR / X3 / Page 14 T @ % R v / space FOR ROUGH WORK pro
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56. Al A+ Bwrad 8, A B ®m oud &y 56. If A + B means 'A is brother of B

A - B s 3 A.B afer & A — B means 'A is the husband of IV,
AxBmadd A B fmn 3¢

AP xQ+R-Suandft:
@ O, SHE ¥
@) S. Pa# ah ¥y

A x B means. "A is- the father of B,

Then P x Q + R'=S means :
(1) Q is the hushand of $
() S is the wife of P

2 S % fuar & . r
B ¢ s P (3) P is the father of S
Ws_-&: ECE (@) P is the fahérlin-law of §
(5) =9 Tl &N awed (5) Not attempted-
f.." [;_

57, Hr8 et arti & ﬁ"{(l W woTaftam g i fam | 57. A set of English Jetters is given below in a
ar ¥ dearel % 3{1 WA & w5t Pk jumbled order. Select the combination of
STt aer mﬂ'lf{ﬂﬂ T uT U syt g numbers so that the letters arranged
e ’ accordingly will form a meaningtul word.

TOARHU T0sREY

1 234586 t 23 4 5%
Vm/a:ﬁld.ﬂﬁ A E LA S52
@61524 PP i
(3) 2.4.5 1,36

) 2.4,5 1.3, 6
@) 4,2 1,635
(S}Ww@&mmﬁ

(4 42.1,6,3 5
(3) Not anemp:@
-y

58, Ty fmw B T e, @t Srqt T @ I 58. Choose the option: which is related to the
R ﬁfﬂ Bl o 95 9T @ third term in the-same way as the sccond

ifra & oy g 8 ' term is related to the first :

quﬂ :

ﬂiﬂqf-hw u;:aﬂ'?

Pen : Write 7 Spade : ?

e wes 5
- M C (o
() mrem =R Ak P e r~
b g (3) Guard e
(hmnt - -
e ~ :S;Ntsrtem ed
i ot a t
() s 8 2 @R .
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59. Rom @ Qae HAC 59. Choose the odd one out :

(1) Prfew (1 Q.uinta]
(2) Kilometer
£3) Roeltum M . g (3) Kilogram
(d) T (4) Gram ]
(5) s T T U (5) Not attemptec
R et T Gy N e e . B e
¥R T AR @) T A gy A we: to be true even if they seem to be at variance
ot qe & B & i 7 wda o &, fof Y from the commonly known facts. decide
fs @ wmra Fread fag TR & AU g which of the conclusions logically lollow(s)
THET T A P Py & from the given statements
®E Wl ARE vy Statements : Al rivers are mountains,
i AETEMT uda &) All oceans are mountains.
Bl (- 7w At wemEnT ¥ Conclusions : (I) Some rivers are oceans.
(D) Fw ydg i ) (I) Some mountains are
\ A1) Fam Pre 11 Praseren &) rivers.
(2) Fremd 1 3t 11 9 Preea ) (1) Only conclusion 11 follows.
() 7 @ P | T @I —— (2) Bc?h cunciusior? I and II follow.
%%ﬂﬁ P 1 ey no (:} ﬁmlthc:r cunnl‘muun I nor IT follows.
() T T T A g ﬂ (4) Only conclusion I follows.

(5) Not attempted
[§€ 6. -y yilen ¥ a, T % g A e gy

12 TR A TS v g ot Sunsise, Sunny
::Ir_:;_ 1T ﬁ” g=ir E7) g fa‘?{‘T ﬁm f‘? ETL'?._ - the p':l]e fell Exacﬂy to Su_nl:]jﬂs :..E S;ﬂd{;::v_uf
| L F ] direction was he facing? Eht. Which
o (2) afyeay (1) East
"”’é_ 4 3) Tar-—uiyey M . H (2) West
] L (4) =i (3) North-West

! % (3) T =181 2= ey . (4) South

s - (5) Not attempted
;Z 352-%ﬁmﬁﬂﬁmrﬂ?{ﬁmm§: " 5
143, 149, 158, 170, 203 62. Find the MISSING number in the ey
* 4 3 .
85 — 143, 149, 158, 170, S
(2) 190 ﬂ (1) 185
(3) 192 e - (2) 190
(4) 182 ) 192
(5) Waﬁhﬂfﬁﬁ (4) 182
H%f_ (3) Not attempted
: e IKSHR / X3/ PHD‘*“"I T &1 % R wirm / sPACE FoR ROUGH WORK
s WML e g,
l1q -~
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63. et ad ¥ wik o e Rt oA o, i o af
% T WO W e B o wr ?

\ BT
L
(3) Em
(4) Tea
(5) S9C F 31 A

P 1

64. wE T X, Y, Z, M, N 3t O vt 9t ait e
m%ﬂﬁﬂﬂf%%‘ ﬁﬁaﬂmmwé’f%ﬁa
mﬁmqﬁﬁl Z', X' oft 'N' % ﬂ’lﬂff %Ef%l
M Ret 9T RV, N % St o §1
'0" < fRert X T F1IM % o2 B 22

() ZadR Y
\/(’z/}/ﬂﬂi‘rt}{
(3) O AT N
(4) X st N
(5) wot =Ef & =med

At - B

65. aft s gz wwr 4 'VIETNAM' &1 G2
'WKFVOCN' , d seft g2 Wit & ‘BRITAIN'
@ fva et forar s ?

(1) CTIwWCIp

V43 CTIVBKO M 3t
@) cTiucyp
@) cTIwWBKO

©) wat & 21 ama

63. The fourth day of March in a year was
Thursday, what was the last day of the next

month in that yecar?
(1) Friday

(2) Saturday

(3) Sunday

(4) Thursday

(5) Not attempted

Six persons X, Y, Z, M, N and O are sitting
in a row facing towards North but not

necessarily in the same order. 'Z' is sitting

between 'X' and 'N'. 'M"is not at the end. 'Y"
is sitting immediate right to 'N'. 'O’ is not at
the right end. Who are the neighbours of M?
(1) Zand Y
(2) Oand X
(3) Oand N
(4) X and N

(5) Not al.‘tempted_.

If in a code langnage "VIETNAM' is coded
as "WKFVOCN!', then how will ‘BRITAIN"

be written in the same code?
(1) CTIWCIP

(2) CTIVBKO

(3) CTIUuCIP

(4) CTIWBEKO

(3) Mot attempted
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66. ‘mwmmﬂ'%aﬂqﬁwwmﬁwW
o= ¥ -
(1) Berema
(2) FameTET Y
(3) e P}Vs /_‘D
HAMEA i

(5) waT T8 ¥ R .

67. 'wmIgEY WO uE @ ahdd fow ¥ -
(1) fafdra gyow
(2) TT IEu D
(3) = gow f>ﬂ7'b :
A Bhew gow o

ti)mw&wm

ﬂﬁg:m% ?

(1) =% =t & T &m?t?m s A
w

\,@)/;He‘ﬂm ﬂ‘mm.:::ﬁ AT |

3) W % % ww A
(4) gv ow ot & WA @y
G swd a1
69. ‘werm 4w & R, grge gerEw ¥ -
\)*)/%-Tﬂ'ﬁfwt o
(2) sife 7 o 3M1 .
) ok wem - PR o

(4) HEm wiEwy W m:p:'[f
(5) Fu =éf = =

70. 'f&‘ﬁ; gTe o1 Gt e vafaer o ¥ —
qd o
(2) a7 -
(3) arfime
(4) =AY
(5) @t 78l & fmré*r

IKSHRA / X3 / Page 18

i'f;m A

(ﬂ?ﬁ?ﬁﬁ%ﬂiﬂzﬁ

3.

74,

T3.

7. 'ﬁ’mﬁmmm%—

(1) =g

(2) A=A

(3) =™

(4) %

(5) were TE A fm;“?f

it &) gfe A @ m’-ma gm T ¥ ?
(1) &

(@) g

(3) et ',-.-.-;

(4) gfe o v

ﬁﬁ\aﬁﬂﬁuﬂ?—ma@ﬂm STEHTT I U g
T E ?

(1) werafeue :{j

(2) B =

(3) i {:',-““.

(4) g =

._,I
(5) @t 8 A -

‘it s &
Lo ﬁ“iﬁ‘fﬁfﬁﬁmgﬂa

(1) s oo & w4t

@) s <Rrevw & 1 Arreifer
() P shem F R
(4) ol SRrerr Y
(5) =t =t 3 Ay

'ﬁmu&mﬁmw&mi )
(1) mwmfs ik

-

:.‘~

(2) witte (ot
() sifufr A
(‘U ﬂﬁrﬂ [~

(5) Tt =i T amd

T% #1d & fg Wi / SPACE FoR RouGH WORK
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af 1950 % a9 % amm T A
Tﬁ-miﬁﬁﬁﬁﬁmﬂﬁwmﬁiﬁﬂg
Mmﬁﬂfﬂ L1 ﬂﬁ:%’fm e

mE o

2 gﬁﬁ

3 (0 f

(3) T fre BN» . rD
g & w2023 F i & wh-20 )

T7. E’: -ﬂﬁ ?;? SETRTET
.[” WQT L
7) &R -

Lj}}ﬂﬁﬁ o ﬂ‘ﬁ: C
(4) ZRT ST (7 '
(5) =E T A e

-

78, i el T e St (i) ¥ R
Frio gaEdl €7 :

(1) @
tzi ?;'q o
@ ot :
w2 e D
(5) T T 3 e
9. e ¥ & Pt o @) s et
El EATdT %? -
Eaite
@) sy '
whwes O hae D
() s 78 A e
M. Frefefir @1 i aor
il o gl
A T2 HermmE o . 1918
B. wferr s s n 1919
C. fim T B psa 1. 1922
D. e v, 1930
1 B my et ad gt g
) i-i{I.B&n, LRI 2
" B-IV, QL D-II (,‘W;, -
Ei} AL B @y, pav
§) ol Bef, o1y, Dol
T e Visit Wel

7

-

TT.

78.

79.

80.

jsite "SarkariJob.in”

Civil Rights Movement of 1950's put an end
to social discrimination. From where did the
movement begin?
(1) UK.
(2) FRANCE ™
(3) GERMANY:
(4) USA -
(5) Mot attempted
|' -
Which country has taken over the
Presidentship of G-20 from India in the year
20237
(1) Canada ~%°
(2) Bangladesh®
(3) Brazil <
(4) South Afrita
(5) Not attempted
el
How many functional units are there in
Indira Gandhi National Centre for the

Arts (IGNCA)?

(1) Seven

(2) Nine e
(3) Three -
(4) Five .-

o0
Ty

(5) Not attempted

Which of the following states is known as
'Sandalwood state of India'?

(1) Kamataka*

(2) Meghalaya

(3) Uttar Pradesh

(4) Chhattisgarh,

(5) Not attempted

Match the follgwing -
List-L List-II
A. Rowlait agraha I. 1918
B. Civil disobedience I 1919
movement
C. Mill workers' strike 1. 1922
D. Non-cooperation IV. 1930
l'I'J.l'.'i"n!"’l?lf'l'-lEd.#‘7l|

Choose the corréct answer from options
below : -
(1) A-lll, B-ILYC-1, D-1V
) A-ll, B-1V, C-I, D-III
3) AL B-Iy O-11, D-1V
@) A-lL B-1, C-1V, D-111
(5) Not attempted
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81 mﬁ'ﬁﬁﬂ'ﬂ?ﬂﬁm"fﬁﬂﬁ'iﬂm e @ 81

7

-

82. dwew & femre @ ufirn & AW gEO ol 9s
TETEN BT & ¢
(1) emeferm

DT
(3) arrhiem

(4) 70
(5) wot 7 &= wred

w8

83. i e freem (gAues)) @ e feg ad

g
e B

(1) 1975

VA2 1959

(3) 1950
(4) 1976
(5) wat & & awa

84, crmEdr S=iem B 99 @ fear T wa Rraey
F Prefirfla F A Rew o F amr wm & oy ?

LMY @
(2) eurer ;
(3) sEugEn pﬁf"b ﬁ
(4) w1
(5) sat =& T wed

85. wATT g fead @l ¥ Roaf £ 7
g
(2) @ Mﬁ
(3)
(4) e
(5) =at & < =@

IKSHR / X3 / Page 20

52,

83.

84.

85.

was the first one lo

: e i dia
Wiiich S8 it scheme?

introduce Mid day meal
(1) Tamil Nadu

2) Karnataka

(3) Andhra Pradesh

(4) Kerala

(5) Not attempted

Which is the second largest continent after
Asia in terms of area?

(1) Australia

(2) Africa

(3) Antarctica

(4) Europe

(5) Not attempted

The National School of Drama (NSD) was
set up in which year?

(1) 1975

(2) 1959

(3) 1950

(4) 1976

(5) Mot attempted

Non-cooperation movement was called off
when peasants set fire to a police station in -

(1) Chauri Chaura
(2} Chﬂ.mpam
(3) Ahmedabad
(4) Kheda

(5) Not attempted

Owur atmosphere is divided
layers?

(1) Five

(2) Seven

(3) Nine

(4) Eight

(3) Not attempted

into how many

WﬂﬂﬁﬁiﬁNFHFHSPMEmHmUBHWGm{

TO
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86, WA fAz faerdt a9 wimg B %1 % fmm B6. IFamous cricketer Ben Stokes plays

ST Bt e %7 international cricket for which country?
(1) =efls (1) New Zealand
(2) England
Vg}{am M % (3) Australia
(4) Tl (4) West Indies
(5) =o€ T T Ay (5) Not attempted
ad BT T gftem o e 87. In which year did the Congress and the
i Z—:m e &T—H W i Muslim league sign the Lucknow pact?
(1) 1909 (1) 1909
(2) 1915 (2) 1915
BT 1916 (s s (@) 1916
(4) 1900 (4) 1906
(5) Not attempted
(5) T Tl <A1 =y

88. In Mahatma Gandhi Mational Rural

§8. FEr WHT T gy Ve M Fftafrm, Employment Guarantee Act 2005

2005 (FECT) ¥ YRE @R N ad § fead (MGNREGA), how many days of
&t & QornT @ s S g2 employment are guaranteed in a year by
(1) 75 &= the Indian Government?
oy b @ 100 P
. 5
(3) 90 R (8 5590 e Y
(4) 120 = o
(4) 120 Days

(5) JaT et &= = (5) Not attempted

. oy arfi 1 ad 2019 % forg @ W H Y 89. Who won the 'Bharat Ratna Award’ for vear

e 2 20197
uﬂﬁﬂa et (1) Pranab Mukherjee
() ¥, T g P _ P, (2) Dr. Bhupen Hazarika
(3) @ Hru.am. A (3) Prof. C.N.R. Rao
4) T fyfmeaE @@ (4) Ustad Bismillah Khan
(5) vt & Fep wed (5) Not attempted
0. - ¥ &7 90. Which bird does not make its own nest?
1) 9l qai i ' 3 (1) Indian robin
\_/aj/- afe : (2) Koel
BT M : % (3) Tailor bird
©) <o farar (4) Weaver bird
() &y efean (5) Not attempted
©) v w2y el
1H3 — T f / SPACE FOR ROUGH WORK
% fora @
"X31 Page 21 % 7
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91. Change the following sentence to indirect

specch.

He said. "Mambiar works hard."

(1) He said that Nambiar was working hard.

(2) He said that Nambidr had worked hard.

(3) He said thm N;m‘if'-iilr had heen working
hard. -

(4) He said that Nanﬁ!hr \Vur!\cd hard.

(5) Not attempted -

| B

92. Choose the correctly [spelt word :

(1) incradulous
L/(2') incredulous
1) incredulus : g
(3) incredulu ” ,ﬁ‘ng
i

(4) incradulus
E3

(5) Not attempted
93. Pick out the part ofsthe sentence which
has an error. If there i§-no error, your answer

15 |'\r
The Wl‘li.'.‘rlﬂ block ufﬂa_t:s /
A
including two shops were /
a B ;
destro in the earthguake.
C L :-
VATB
(2) C M Q
(3) No Err{:-r _={‘H
4) A N e |

(5) Not attempted [~

94. Choose the alternative which best expresses

the given sentence in Passive Voice.
Must we cut this tred®)
(1) Must this tree wds ut?

\ £2Y Must this tree beeut? Py,

+(3) Must this tree 1sul? , b Q)
(4) Must this tree will-cut? i
(5) Mot attempted

il

. Find out the synonym of the underlined word
in the following sentence.
Colours, like featureg) follow changes of
(4) moments i

(5) Not attempted [~

cmotions. )
(1) _movements 3
sentiments Y

(3) under-current [~

= — e

96. Replace the underlined word/phrase with an
alterpative to make a gmmmalically correct
sentence.

"The ladder will be cul lapse if you push the
wall with both the hands.
(1) will have collapsed
(2) will have been. tollapsing
(3) No change i

will collapse [
(5} Mot attempted

(dg L

97. Chuubc lhn alternatiye, which best expresses
the meaning of the LT.l'ﬂ‘du‘.‘rlln-’.‘d idiom.
Our hockey team scored the winning goal
at the eleventh IIUUI.]:: '
(1) at a crucial lim?-;
(2) before an hour |

at the last minute.

(4) in the beginning
(5) Not attempted

Pe C

98. Fill in the blank with’correct form of verb.

Neither of the two nén very strong,
LA was o

(2) will be 'E{“-

(3) shall be . Q.

(4) were [T:' HYS :

(5) Mot attempted

99. Arrange the following parts of the sentence
to make a meaningfil sentence.
A. to understand <
B. to many pﬂ)plef:l
C. threatening and%vf:n impossible
D). grammar appears

(1;%_1)@ oy
ACB L fpﬂ”"i :
(3) ADBC ,B
(4) CABD
(5) Not attempted ?:
100. Find out the antonym!of ‘democracy’,
(1) republie h
(2) delicacy ! r
monarchy & (
(4) popular = M

(5) Mot attempted
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